
第１２講 解答編 

＜令和５年度本試験＞ 

(ア)  
2

3
a = （86.9％） (イ) 

4 18

7 7
y x= − − （55.1％）  (ウ)  

57

13
x = （5.9％） 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



＜令和４年度本試験＞ 

(ア)  
1

4
a = （87.0％） (イ) 

3 15

11 11
y x= − （74.6％）  (ウ)  3：10（6.9％） 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



＜令和５年度類題＞（H28神奈川問３） 

(ア) 
2

3
a =     (イ) 

2
2

3
y x= − −    (ウ) E

21 15
,

8 4

 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



＜令和４年度類題＞ （某〇取中学校の２０２２年中２前期期末テスト） 

(ア) C
7

1,
2

 
− 

 
  (イ)  D

26 14
,

5 5

 
 
 

   (ウ) 
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5
 

 

 


